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 Autograph Activity

Investigating Roots of Quadratics


	[image: image2.png]


 Open a new graph page in Standard Level – or click on graph below.
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 Enter Equation y = (x — a)(x — b). Note that ‘a’ and ‘b’ are “constants” and that the initial (default) value of any constant used is always 1.
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  Click on the ‘constant controller’ and change the value of ‘a’ to 2

	
[image: image5.wmf] Write down the equation of the graph:
	     y =

	
[image: image6.wmf] Write down the co-ordinates of the points where the graph crosses the x-axis: 


	Point 1:   (       , 0 )

Point 2:   (       , 0 )
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 Use the constant controller to investigate the effect on the graph of changing ‘a’ (look closely at where the graph cuts the x-axis). Then switch to ‘b’ (click on this arrow to change to ‘b’) 


	You can change  using the up/down arrows and the ‘step’ using L/R  
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[image: image9.wmf] Make a conjecture about where the graph y = (x — a)(x — b) cuts the x-axis. 

Write this in your own words in the space below and also explain the connection between ‘a’ and ‘b’ and the point where the graph cuts the y-axis
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	Conjecture:

Ask your teacher to check this now!
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